Chapter 7

EXERCISE 7-1 (10-15 minutes)

(a) Cash includes the following:

	1.
	Commercial savings account—

   First National Bank 
	
$   600,000

	2.
	Commercial chequing account—

   First National Bank 
	
900,000

	3.
	Money market fund—Volonte
	5,000,000

	4.
	Petty cash
	1,000

	5.
	Currency and coin on hand
	         7,700

	Cash reported on December 31, 2002,

      balance sheet
	 $6,508,700


(b) Other items classified as follows:

1. Travel advances (reimbursed by employee)* should be reported as receivable—employee in the amount of $180,000.

2. Cash restricted in the amount of $1,500,000 for the retirement of long-term debt should be reported as a noncurrent asset identified as “Cash restricted for retirement of long-term debt.”

3. An IOU from Marianne Koch should be reported as a receivable from officer in the amount of $190,000.

4. The bank overdraft of $110,000 should be reported as a current liability.**

5. Certificates of deposits of $500,000 each should be classified as temporary investments.

6. Postdated cheque of $125,000 should be reported as an accounts receivable.

7. The compensating balance requirement does not affect the balance in cash. A note disclosure indicating the arrangement and the amounts involved should be described in the notes.

8. Commercial paper should be reported as temporary invest-ments.

EXERCISE 7-1 (Continued)

* If not reimbursed, charge to prepaid expense.

**If cash is present in another account in the same bank on which the overdraft occurred, offsetting is required.

EXERCISE 7-5 (15-20 minutes)

Sales recorded at gross:

	(a)
	1.
	June   3
	Accounts Receivable—Chester
	
	

	
	
	
	   Arthur

	3,000
	

	
	
	
	
Sales

	
	3,000

	
	
	
	
	
	

	
	
	June   5
	Sales Returns and Allowances

	500
	

	
	
	
	
Accounts Receivable
	
	

	
	
	
	
   —Chester Arthur

	
	500

	
	
	
	
	
	

	
	
	June   7
	Transportation-Out

	25
	

	
	
	
	
Cash

	
	25

	
	
	
	
	
	

	
	
	June 12
	Cash


	2,450
	

	
	
	
	Sales Discounts ($2,500 X 2%)

	50
	

	
	
	
	
Accounts Receivable—Chester
	
	

	
	
	
	
   Arthur ($3,000 – $500)

	
	2,500

	
	
	
	
	
	


Sales recorded at net:

	
	2.
	June   3
	Accounts Receivable—Chester
	
	

	
	
	
	   Arthur

	2,940
	

	
	
	
	
Sales ($3,000 X 98%)

	
	2,940

	
	
	June   5
	Sales Returns and Allowances

	490
	

	
	
	
	
Accounts Receivable—Chester
	
	

	
	
	
	
   Arthur ($500 X 98%)

	
	490

	
	
	
	
	
	

	
	
	June   7
	Transportation-Out

	25
	

	
	
	
	
Cash

	
	25

	
	
	
	
	
	

	
	
	June 12
	Cash


	2,450
	

	
	
	
	
Accounts Receivable—Chester
	
	

	
	
	
	
   Arthur ($2,940 – $490)

	
	2,450

	
	
	
	
	
	

	(b)
	
	July 29
	Cash


	2,500
	

	
	
	
	
Accounts Receivable—Chester
	
	

	
	
	
	
   Arthur

	
	2,450

	
	
	
	
Sales Discounts Forfeited

	
	50


EXERCISE 7-5 (Continued)

	
	
	(Note to instructor: Sales discounts forfeited could have been recognized at the time the discount period lapsed. The company, however, would probably not record this forfeiture until final cash settlement.)


EXERCISE 7-7 (8-10 minutes)

	(a)
	Bad Debt Expense

	5,350
	

	
	
Allowance for Doubtful Accounts

	
	5,350

	
	
   [($90,000 X 4%) + $1,750]
	
	

	
	
	
	

	(b)
	Bad Debt Expense

	6,500
	

	
	
Allowance for Doubtful Accounts

	
	6,500

	
	
   [($680,000 – $30,000) X 1%]
	
	


EXERCISE 7-9 (8-10 minutes)

	Balance 1/1 ($700 – $155)
	$   545
	Over one year

	4/12 (#2412) ($1,710 – $1,000 – $300)
	410
	Eight months 

and 18 days

	11/18 (#5681) ($2,000 – $1,250)
	         750
	One month

 and 12 days

	
	$1,705
	


Inasmuch as later invoices have been paid in full, all three of these amounts should be investigated in order to determine why Gerald Manley, Inc. has not paid them. The amounts in the beginning balance and #2412 should be of particular concern.

EXERISE 7-14 (15-20 minutes)

	(a)
	To be recorded as a sale, all of the following conditions would be met:

	
	

	
	1.
	The transferred asset has been isolated from the transferor (put beyond reach of the transferor and its creditors even in bankruptcy or receivership).

	
	
	

	
	2.
	The transferees have obtained the right to pledge or to exchange either the transferred assets or beneficial interests in the transferred assets.

	
	
	

	
	3.
	The transferor does not maintain effective control over the transferred assets through an agreement to repurchase or redeem them before their maturity.


	(b)
	Calculation of net proceeds:

	
	
Cash received ($175,000 X 94%)
	$164,500
	

	
	
Due from factor ($175,000 X 4%)
	      7,000
	$171,500

	
	
Less: Recourse obligation
	
	      2,000

	
	
Net proceeds
	
	$169,500


	
	Calculation of gain or loss:

	
	
Carrying value
	
	$175,000

	
	
Net proceeds
	
	  169,500

	
	
Loss on sale of receivables
	
	$    5,500


	
	The following journal entry would be made:

	
	
Cash

	164,500
	

	
	
Due from Factor

	7,000
	

	

	
Loss on Sale of Receivables

	5,500
	

	
	
        Recourse Liability

	
	2,000

	
	
        Accounts Receivable

	
	175,000


EXERCISE 7-15 (10-15 minutes)

	(a)
	July 1
	Cash


	283,500
	

	
	
	Due from Factor

	12,000
	

	
	
	Loss on Sale of Receivables

	4,500
	

	
	
	
Accounts Receivable

	
	300,000

	
	
	 ($12,000 = 4% X $300,000)
	
	

	
	
	 ($4,500 = 1 1/2% X $300,000)
	
	


	(b)
	July 1
	Accounts Receivable

	300,000
	

	
	
	
Due to PET Corp.

	
	12,000

	
	
	
Financing Revenue

	
	4,500

	
	
	
Cash

	
	283,500


EXERCISE 7-16 (10-15 minutes)

Entry July 1, 2003

	1.
	Notes Receivable

	1,101,460.00
	

	
	
Discount on Notes Receivable

	
	401,460.00

	
	
Land

	
	590,000.00

	
	
Gain on Sale of Land

	
	110,000.00

	
	($700,000 – $590,000)
	
	


	
	$1,101,460
	   Face value of note

	
	       .63552
	   Present value of 1 for 4 periods at 12%

	
	   700,000
	   Present value of note

	
	  1,101,460
	   Face value of note

	
	$   401,460
	   Discount on note receivable


Entry July 1, 2003

	2.
	Notes Receivable

	400,000.00
	

	
	
Discount on Notes Receivable

	
	178,836.32

	
	
Service Revenue

	
	221,163.68


	
	Calculation of the present value of
	
	

	
	   the note:
	
	

	
	
Maturity value
	
	400,000.00

	
	
Present value of $400,000 due 
	
	

	
	
   in 8 years at 12%—$400,000
	
	

	
	
   X .40388
	$161,552.00
	

	
	
Present value of $12,000 
	
	

	
	
   payable annually for 8 years
	
	

	
	
   at 12% annually—$12,000
	
	

	
	
   X 4.96764
	    59,611.68
	

	
	
Present value of the note and
	
	

	
	
   and interest
	
	  221,163.68

	
	
Discount
	
	$178,836.32


*EXERCISE 7-22 (15-20 minutes)

	(a)                                 Lansbury Company

	Bank Reconciliation 

	July 31

	Balance per bank statement, July 31
	
	$8,650

	Add:  Deposits in transit
	
	2,350a

	Deduct:  Outstanding cheques
	
	 (1,100)b

	Correct cash balance, July 31
	
	$9,900

	
	
	

	Balance per books, July 31
	
	$9,250

	Add:  Collection of note
	
	1,000

	Less:  Bank service charge
	$  15
	

	            NSF cheque
	  335
	    (350)

	Corrected cash balance, July 31
	
	$9,900


	aCalculation of deposits in transit
	
	

	      Deposits per books
	
	$5,810

	      Deposits per bank in July
	$5,000
	

	      Less deposits in transit (June)
	(1,540)
	

	      Deposits mailed and received in July
	
	 (3,460)

	Deposits in transit, July 31
	
	$2,350


	bCalculation of outstanding cheques
	
	

	      Cheques written per books
	
	$3,100

	      Cheques cleared by bank in July
	$4,000
	

	      Less outstanding cheques (June)*
	(2,000)
	

	      Cheques written and cleared in July
	
	 (2,000)

	Outstanding cheques, July 31
	
	$1,100


*Assumed to clear bank in July

	(b)
	Cash


	650
	

	
	Office Expenses—Bank Service Charge

	15
	

	
	Accounts Receivable

	335
	

	
	
Notes Receivable

	
	1,000


